INSTALLATION INSTRUCTIONS \YV /- V.
CUSTOM MOLDED FRONT MUD GUARDS FOR No. 940455

Ford Super Duty 250/350 without Fender Flares HW ||| ”|||H”|H‘ mH
g Ml 47227 1" 09679 1Ml 5

Tools Needed

¢ Phillips head screwdriver
e Drill with 1/8” bit

e 7/32 Socket/Driver

e Silicone (optional)

Included in Box

¢ Front Mud Guards (for driver & passenger side)
e #10 Screws (x4)

e U-Clips (x4)

¢ Paint Protection Film

FILM TO PROTECT
VEHICLE

Panel
l  -g——— Screw

N a— UClip

g Mud Guard

Figure 1

Panel
——— Screw

-—
(
T

—— U-Clip

4 Mud Guard

Figure 2

*Repeat Steps 1-3 for Driver & Passenger Side*

STEP 1. Remove existing fasteners.
a. Remove existing 7/32 fasteners from locations B and C. Save for later step.
STEP 2. Apply film to protect vehicle.
a. Using a clean cloth or wet alcohol pad, clean the area on the fender where the film (to protect vehicle) will be placed.
b. Use soapy water to wet film, fender, and fingers for a wet film installation. Apply film in location shown in diagram, with adhesive side

of film towards the vehicle. Apply pressure and smooth out film with a squeegee or sponge and allow to dry.
STEP 3. Secure mud guards.

a. Peel backing from adhesive tape.
b. Using the 7/32 fasteners from Step 1, attach mud guard at locations B and C.
c. Using the mud guard as a guide, drill 1/8” holes at locations A and D.
i. Location A is drilling into the vehicle.
d. Slide U-Clip over fender of vehicle at location A.
i. Optional: Use a dab of silicone at location A after sliding on U-Clip to aid in prevention of rust.
e. Install #10 screw at location A. See Figure 1.
d. Install #10 screw at location D into U-Clip. U-Clip is used as a nut. See Figure 2.

www.redhoundauto.com service@redhoundauto.com 866.521.1333

05/29/2018 — V1.0 — © 2018 by L.O.F., Inc.



INSTALLATION INSTRUCTIONS

CUSTOM MOLDED REAR MUD GUARDS FOR

Ford Super Duty 250/350 without Fender Flares

Tools Needed

¢ Phillips head screwdriver
e Drill with 1/8” bit

* Side Cuts

¢ Silicone (optional)

RED
HOUND .uro-

No. 940459

8 ‘ 09683 ““ 2

47227

Included in Box

¢ Rear Mud Guards (for driver & passenger side)
e #10 Screws (x6)

¢ U-Clips (x6)

¢ Paint Protection Film

FILM TO
PROTECT
VEHICLE

Panel
l  -g——— Screw

N a— UClip

g Mud Guard

Figure 1

*Repeat Steps 1-3 for Driver & Passenger Side*

STEP 1. Remove existing fasteners.

a. Using side cuts, remove existing fasteners from locations B and C. Discard these fasteners.

STEP 2. Apply film to protect vehicle.

a. Using a clean cloth or wet alcohol pad, clean the area on the fender where the film (to protect vehicle) will be placed.
b. Use soapy water to wet film, fender, and fingers for a wet film installation. Apply film in location shown in diagram, with adhesive side
of film towards the vehicle. Apply pressure and smooth out film with a squeegee or sponge and allow to dry.

STEP 3. Secure mud guards.
a. Peel backing from adhesive tape.

b. Slip U-Clips over fender at locations B and C. Install #10 screws to locations B and C into U-Clip. See Figure 1.

c. Using the mud guard as a guide, drill a 1/8” hole at location A.
i. Location A is drilling into the vehicle.
d. Slip U-Clip over fender at location A.

i. Optional: Use a dab of silicone at location A after sliding on U-Clip to aid in prevention of rust. Install #10 screw to location A into U-Clip. See

Figure 1.

www.redhoundauto.com

service@redhoundauto.com

866.521.1333

05/29/2018 — V1.0 — © 2018 by L.O.F., Inc.



